(1) @A
(2) @fE=

(3) R

(4) T (T9)

(5) ST & e

g Tl aRaEge far’ A A g
(1) g

(2) e T S AT

(3) Qe ST AT

(4) et steied AT

(5) 3T A o ed

Wﬁ‘aﬁm@'ﬂuﬁﬁﬁaﬁ’ﬁwﬁﬂmm%?
(1) 14 EE

*glus
s

In a Gram Panchayat, what are the elect,

members called ?
(1) Sarpanch
(2) Secretary

(3) Councillors
4) Ward Members (Panch)

(5) Not attempted

National Rural Livelihood Mission’ has beey

renamed as :
(1) Annapurna

(2) Pradhan Mantri Gram Sadak Yojana
(3) Pradhan Mantri Awaas Yojana

(4) Deendayal Antyodaya Yojana

(5) Not attempted

Festival’ is celebrated

‘International Kite
hich day ?

every year in Gujarat onn W
(1) 14 February
(2) 14 January

2 14 EECH]
3 14 fedR (3) 14t December
@) 14 BEEKS 4 141 November
(5) W & &1 =ed (5) Not attempted
& afedas sToRl R o4 Frhferd &t & 2 In which year was the 7t Economic Census
1) 201 8 conducted ?
(2) 2022 (1) 2018
(3) 2019 2) 2022
(4) 2021 (3) 2019
(5) I T S A (4) 2021
(5) Notattempted

5 WEEWR i i e g7
(1) 20 ¥ 9fd &R What is the average salinity of an ocean ?
(2) 35 WM &R (1) 20 parts per thousand
(3) 25 4r wfg g9 (2) 35 parts per thousand
(4) 75 I 9 &R (3) 25 parts per thousand
(5) S TE o =ed (4) 75 parts per thousand

TNAVH/F4 e P T (5) Not attempted
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freAfafad B | YRa & 3ifaq grer g9 i 42 6.  Who among the fol|

owi
Emperor of India 2 Ng was the |agt Mugha]

(1) o (1)  Akb
7 _ ar |
Tel . (2)  Jahangir
(3) E‘NG‘@{ ' (3)  Bahadur Shah Zafy,
(4) ST Ei. (4)  Aurangzeb
(5) SR T <A e (5)  Not attempted
WA Hfaus § g ferer wiferer atferepr & 2 7. How many Fundamenta] Rights are there in
(1) 3 Indian Constitution ?
@ @ (I) Nine
Q) @ (2) Three
(3) Six
Gl SN (4 S
. even
(5) ST < = (5) Not attempted
8. S W/m T4 | 6l g3 LR 8. Which State/Union Territory is known as
oY ST e § 2 ‘Crown of India’ ?
(1) T Td 3R (1) Jammu & Kashmir
(2) L EIE] (2) Punjab
(3) faceht (3) Delhi
) f W (4) Himachal Pradesh

(5)  Not attempted

(5) TR &l o =med

9. The world of living organism is known as :

o. wfrasia (fafdm swifey) & H§aR S FeI A@e

1 (1) Biotic
(2) Molecular

2) g . (3) Atomic

() IR (4)  Abiotic

(4) o _ (5) Not attempted

(5) S TR & wed

10. What percent of oxygen is present in the

10, aTEEe A ST 1 F b W € 2 atmosphere ?

(1) 21% (1 21%

2) 3% 2 3%

3) 71% 3 71%

4) 78% 4) 78%

(5) W 7 3 = (5) Not attempted

< 1 o fere el / SPACE FOR ROUGH WORK Page 3
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11. ﬁ“—-—ri‘aﬁgaﬁmaw/m i

S AT T 2

(1) ST iR e
(2) T 3R gl
(3) faceh oik famon
(4) foer sl amGs
(5) IR T =R

12. ﬁwﬁf@ﬂﬁ@aﬁ?—mwwﬁﬂﬁﬁﬂm%
S YRS F9C i Sty i o1 TR0l e € 2
(1) forer da fasm (DFS)
2) Wﬁmﬂwﬁﬂm@m
(NABFID)
3) yReg W< 9% (SBI)
(4) e fee 9% (RBI)

11.

12.

13.

14.

Which two States/Union Territories
the following share a common High Cq,, ong
e

(1) Rajasthan and Gujarat
2) pPunjab and Haryana
(3) Delhi and Haryana

(4) Bihar and Jharkhand

(5) Not attempted

e following is India’s Cent,
tion, which controls t;,
f the Indian rupee ?

Which one of th
panking institu
monetary policy O
(1) The Department of Financial Servig,

(DFS)

(2) National Bank for  Financin
Infrastructure and Developmen
(NABFID)

(3) State Bank of India (SBI)
(4) Reserve Bank of India (RBI)

(5) Not attempted

ryan ruler who tried to

Who was the first Mau
ple through

take his message to the peo
inscriptions ?

(1) Chandragupta

(2) Ashoka

(3) Bindusara

(4) Chanakya

(5) Not attempted

Rouf Dance is a famous folk dance for™ of
which one of the following States ?
(1) Andhra Pradesh

(2) Rajasthan

(3) Jammu & Kashmir

(4) Uttar Pradesh

(5) Not attempted
P
page 4

(5) IeR G &A1 AR
13. aﬂﬂuaﬂuﬁwﬁﬁ%ﬁ'ﬁaﬁﬁ@’f%ma
ST e ST T G 2
(1) =&
(2) oW
(3) feiger
(4) =
(5) TR TE & e
14. mqaﬁwmaﬁﬁmmmm—am%?
(1) STUHeA
2 TEEA
(3) T T FYHR
(4) ST
5) IR T A =ed
TNAVH / F4

A
L
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I . )

" 3 A g T T W T F S ? 15. Kalinga is the ancient

a i
the following state ? me of which one of

(1) Ty (1) Tamil Nad
ami adu

9) EARH

(2) | (2) Karnataka
EUIE

(3) . (3) Bengal

(4) 31“;"” (4) Coastal Odisha

(5) AR <A TR

(5) Not attempted

ﬂ%maﬂwmﬁ#mmﬁm%l

ST S ¥ T8 R 36 ferw zid 16. Euirse 5(.1)‘1);1( écsi I;cf)]tt guitable for n::;king jewelleri;
Ayl fcmn sww R make it hard for making ornaments.

(1) i, e (1)  Silver, Copper

) Ugfafm, alE (2)  Aluminium, Copper

(3) e, Ut (3) Silver, Aluminium

(4) TSie, =idt (4)  Zinc, Silver

(5) S® T8t o TR (5) Not attempted

17. R IR FEa @ 7w o 0, frd 5o s ¥ 17. Short plants with green and tender stem

having few branches belong to the category

frefaten 9 @ g Ioi & 3fafa om 8 ? .

(1) @ (1)  Shrubs

(2) AR (2) Climbers

(3) W (3) Herbs

4) 9& (4) Trees

(5) SW el <1 =ed (5) Not attempted E
18. fr=fafeEa b1 @ = o i 3 Fefeig T8 22 | 18. }gﬁg“tig ;lee non-biodegradable item from the 'i

(1) B (1) Wood ;

(2 SAFFIR (2) Woollen clothes |

(3) RIS (3) Paper |

(4) AR fesl (4) Tin cans

(5) IR T A = (5) Not attempted

< BT o 17U 72Te / SPACE FOR ROUGH WORK Page 5
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@ f ;-T 5 ; i L h which
/ B/ § S TR YRR H yaw 19. The blood has ich fight agy: e
Bl E ter our body. ny ¢
A % foeg wred,/wed €1 germs that may enter our body =t
(1) < T hivrerd (1) Redblood Carpuscles
(2) fedrenfem (2) Haemoglobin @
(3) YT T HIURTT (3) White blood Carpuscles )
4) TwioRe™ (4) Platelets ©)
= {d)
: ted
(5) ST TR < =T (5) Notattempte s
t . (1)
Hﬁﬂaq ;Iqﬁa FreAferfad 20. Ad e sunrise and delayed sunset ; 2)
= 1 - 'E!Ff"-ITH ) i bec‘;zzg of the phenomenon of : i (
T foras RO M E? | 3)
(1) gof arfafi wEd (1)  Total internal Reflection )
(2) WM WW (2) Atmospheric Reflection of light (5)
Eq
e T (feset 79e) (3)  Scattering of light (Tyndall Effect) -
heric Refraction of light
4) gq;ma,—[a-rﬂ-q'—é;ﬁ-q ST (4] AtmospheriC k€ raction g i
(5) W &} &1 =Ted (5) Not attempted o)
(3)
01, e ST AT H HHA #q Frefafad 8 3 fpgey) | 21. For the 1r}!znr_ocess of rgsgjng of Iron, the presen (4)
CECIRCELIEE! ATETIE B ? of which is required - )
(1) = afiy sttt a1 (1) Water and Oxygen both
(2) e @ (2) 0il only 25. T
(3) A T (3) Water only (1)
(4) ot afieer (4) Oxygen only (2]
(5) SW kel =Ted (5) Not attempted :4:
@ frefafad o q S I i A TR e ? 22. S}flect the non-communicable diseas€ froe
the following :
(1) o (Fad die) elo °"."mg o
) e (&) (1) Chicken pox (1)
(2) Tuberculosis @)
(3) WY
(3) Diabetes 3)
(4) & 4 >
) Cholera
5) I I =
{5 & (5) Not attempted . ﬁT—ED—‘
TNAVH/ Fa 2 @l 3 fe7C 2t /| SPACE FOR ROUGH WORK page’ AVH/ F4
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" . _Iﬁﬁ@maﬁﬁ?mﬂw"nﬁmw 23. Match structures given ip Column-1 h
. fem -I wit

T fireTH AR functions given in Column-1y
Fie-1 HicH-11 Column-I Column-1I
@) W i) = AT (@) Stomata (i) Absorption of water
(b) STEeH (i) aeIREsH (b) Xylem (ii)  Transpiration
@ Fa (iii) T e Rl GREeT (c)  Root hairs (iii) Transport of food
@ e (FT)  (v) S RIiCEE| (d Phloem  (iv) Transport of water
el faeheq &1 =1 HIfTT | Choose the correct option.
(1) (a)-@), (b)-(i), {c)=(iv), (d)-(iii) (1) (a)-(i), (b)-(), (c)-(iv), (d)- (i)
) (a)-{), (b)-(ii), (c)-(i), (d)-(iv) @) (a)-(1), (b)-(ii), (c)-(i), (d)-(iv)
(3)  (a)-(i), (b)-(iv), (c)-(1), (d)-(ii) (3)  (a)-(ii), (b)-(iv), {c)-(i), (d)-(iii)
4)  (a)-(i), (b)-(), (c)-(iii), (d)-(iv) @) (a)-(ii), (b)-(), (c)-(iii), (d)-(iv)
(5) SR TE < = (5) Not attempted
24. frefefed 3 9 ﬁﬂ—w@mﬁrﬁm%? 24. Which of the following is an antibiotic ?
(1) SFehied (1)  Alcohol
(2) A= (2) Yeast
(3) ifeaH STEhEie (3) Sodium bicarbonate
(4) wemEfA (4) Streptomycin
(5) SRR oA S (5) Not attempted

25. e gen e Frefeted 3 @ fFE HR YN E? | 25. The dough of bread rises because of :

(1) @HR (d=) FiveRel § gfg e 9 (1)  Growth of yeast cells
(2) e s & Fnw (2)  Fine grinding
@) TR (3) Kneading
@) TETEE (4) Salting

I A8l < 9Rd (5) Not attempted
oifen frad@ g e ? 26. Malaria is caused by :
(1) I (1} Fungi
(2) e (2) Protozoa

(3) Bacteria

ij)) :‘:T'\I’T‘;I (4) Virus
(5) ST 1 =9Rd (5) Not attempted

TNAVH/ F4 =% 1 3 feTw 221 / SPACE FOR ROUGH WORK Page 7
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27.  Trefefad 3§ % @ s we d fim e
(1) I
(2) e T
(B) f&m dgem (= A
4 few
(5) ST E I =

28. et B gifem o .

I(awY) 11  weref )

(@) W i) H=
b #F (ii) T=W
() Mg+ (iii) =T
d g (iv) Fﬂv_&ﬁ
Wt foreheq =1 = ife |
(1) (a)-(i), (b)-(iv), (c)-(i), (d)-(i)
(2)  (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(3)  (a)-(iii), {b)-(i), (c)-(iv), (d)-(ii)
(4)  (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)
(5) W Tl A1 =R

29. 9 Bidl & Hifr I8 Fae 7Y T T
(1) vk
(2) TaEt
(3) YRR
(4) HiEER
(5) SR <A = e

30. I« fordlt i § St SIS Yod Yoy ToRa € @ w
Wagw foarh <o 81 feg 1 % vem ¥ geifus
FHT AT ?
(1) ften
@) ST
@) wm
@) e
(5) W 2 T

TNAVH/ Fa

27.

28.

29.

30.

Which one of the followin

the group ?

(1) Yak

(2) Mountain goat
(3) Snow leopard
(4) Deer

(5)  Not attempted

Match the following :

(a)
(b)
(c)
(d)

g does not beloy,,
o

[ cgR v

1;,<
-

I (Objects) II (Materials]
Shoes (i) Paper

Table (ii) Steel
Notebook (iii) Leather
Tumbler (iv) Wood

Choose the correct option.

(1)
(2)
(3)
(4)
(5)

Tiger
meat.

(1)
(2)
3)
(4)
(S)

(a)-(ii), (b)-(iv), (c)-(i), (d}-(ii)
(@)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(a)-(iii), (b)-{i), {c)-(iv), (d)-{ii)
(a)-(ii), (b}-(ii), (c)-(i), (d)-(iv)
Not attempted

is a because it only eats

Omnivore
Cattle

Herbivore
Carnivore

Not attempted

When a white light passes through a prism,
spectrum is observed. Which colour of light
bends most ?

(1)
(2)
(3)
(4)
(S)

Blue

Violet

Red

Yellow

Not attempted

I BT & feTU T2Ter / SPACE FOR ROUGH WORK
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o0 e T W S T ¥ A

ﬂaﬁqﬁmaﬁaﬂtwﬁl T 9 FE A
g 40 L T & T S SO g
Wgammmﬁ%?

@ 50 T

g 60 T

@) 30 I

g ysE S

) I &

31.

e, S |

Kunal walks 90 metreg ¢
there he walks 60 metreg
Then he turns right and
How far and in which direc
starting point ?

(I) 50 metres, North-East
(2) 60 metres, East

(3) 30 metres, North

(4) 40 metres, North-West
(5) Not attempted

Owards East. From
back towards West,
‘-}falks 40 metres.
tion is he from his

1. o T S | T e b oy
) e e ay as in the given
%ﬁ@ﬁ@ﬂﬂﬁ"ﬂmﬁ%l ' pair of words.
sifeated : stferafed Bachelor : Spinster
(1) el ; 8 (1)  Nun : Sister
@) <q_forere - forerh (2) Tutor : Teacher
. s (3) Lady:Woman
@) e (4) Horse : Mare
) et et (5) Not attempted
(5) W& o ded
33. A set of English letters is given below in a
. % e vt e T | e o B R
€l et & ¥ AT —— ¢ foreh STTAR accordingly will form a meaningful word.
el =) ke BT T TR Sl 9o E L gyp i o C
E L P I 0] C 1 2 3 4 5 6
1 2 3 4 5 6 1) 3,526,41
M 352641 @ 3,4,526,1
2 3 4,5,2,6,1 @ 21,5, 4,3,6
@ 215 5,4,3,6 4 3 52,4,6,1
Eg: 3%_?0;% ;_;1%%% (5) Not attempted
i ‘PHYSICS’ is
%.  Fifyed e § PHYSICS # RIAUKEU = fur;ieie;;%gmﬁg;l}a ow will %I?OI?OGY’ be
fore < &, @ BIOLOGY” &1 et e # written in that code ?
foran st ? (1) DKQOQJA
(1) DKQOQJA (2) DKQPQJB
(2) DKQPQJB (3) DKQMQB
(3) DKQMQIB (4) DKQNQIA
(4)  DKQNQIA (5) Not attempted
(5) e & =l
TNAVH % ferg e/ SPACE FOR ROUGH WORK Page 9
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35. SIe A 92 T AR 35. Find the missing term in the serjeq
427,16, 125,36, _» 64,729 4,27, 16, 125,36, 2, 64,729 :
(1) 343 (1) 343
(2) 512 2) 512
(3) 121 (3 121
4) 216 4) 216
(5) ST & =ed (5) Not attempted
36. A, B,C, D, EWFW@@T%W_ @wﬁaﬁ 36. A,B,C,D,EandF are standingin a row ;)
@3%, Afh STavges 7@ & fr s wa A g | B 3R North not necessarily in the same order. T
T HAH € 3R A’ ol B TR WE €, A’ H and P are in the centre, and ‘A’ and B'are,,
o —— , o T E? the ends. ‘C’is standlr.lg on the immediy;,
X 34'1'{@??1 BB o SR A ’ ¢ left of ‘A’. Who is standing on the immediag
(1) cC right of B’ ?
(2 E (1) cC
(4 D F
3
(5) S TE <1 9ed o
4) D
- S N
37. UHYRERH Y EEE P Q) R, ‘S IRT E| P > ¥ gl i i
3R R’ WE-YE T T, ‘Q’ I IEI/HHIZ | S, T”
FEE Q, RATAL P, SAFIgFER | 37. P, ‘Q, R, S’and T’ are five persons of a family.
Haifuq &2 P’and R’ are brothers. ‘T’is uncle of Q. §
is the son of T”. ‘Q’is the sister of ‘R’. Howis
(1) =eR/wa i P’ related to ‘S’ ?
(2) ==E/HEM (1) Cousin
(3 ¥ {2)  Uncle
(4) fam (3)  Brother
(5) W TRl < 9w (4)  Father
(5)  Not attempted
38. faUm &1 97 #if
(1) W= 38. Find the odd one out.
(2) Y= (1) Eraser
(3) fgw (2)  Book
(4) wem (3)  Pencil
() IR T 2 ey (4)  Pen
TNAVH/ Fa e (S)  Not attempted
TH T SN
#IT1 | SPACE FOR ROUGH WORK page 1
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39. EHHA alzfttl'-mfﬁmﬂﬁwﬁl ?-ﬁurhqnﬁl fim | 39. Two statements are give,
m 'ﬁﬁﬁﬁ W A qu Eﬂ, i“i o HE EiLG ﬂ'!.'q.i '.ﬁ El}T‘]cIuHiDnE 1 a nd ]I I [U”l'.l'n'.'l;'ﬂ h:". two
fim @ i 1 wm # o, Fof wE fe #m wga ﬂtﬂtclr}rnta to be true evey, .ET:::;-T’”H the
: i ; at variance from the ¥ Seem to be
fﬂﬁi‘ifﬂﬂ‘{?mﬂiﬂllﬂ'{ ﬂﬂmﬁqﬁﬁm decide which of thet?alg:::f;nh Known fae ts,
4/ fre ¥ follows/follow from the mﬂ“:tz:l-‘i logically
HUA T T A ¥ Btatements:  Some floyers . TIemA ?
A Crs are roses,
L LRIGIL ' Some roses are red,
m H L 'H‘lﬂ TLHIH 'ﬁ' % 1 Conclusions: L Al roses are i
O % T o ) L Py '
. flowers are red.
(1) fre ¢ 3t 2 fre £ (1 Bt comiibional and T ltoi
(2) & ferd 1 e A o e b (2) Neither conclusion I nor I follows,
(3) e Premd 1 Frerem (3)  Only conclusion I follows,
(4) e fed 1 Freeer &) [4)  Only conclusion IT follows,
(5) I A & & |16 (5) Notattempted
40, =fz Tfmam B W A a@ fE 30 f F v A 40 g E‘*:l'::' Hm';dll Lﬂurlh Saturdays and all
. undays are holidays in a 30 days month
Witk e, NE i qe R\ FeEn w s o beginning on Sunday, then how many
Al 28 A | e wrifeae € 7 working days are there in that month ?
(1] 24 fA (1) 24days
(2) 22fad (2)  22days
@ 23fA (31 23days
@) 21fm (4] 21days
S) I (5] Not attempted
. 41. A started a business with ¥ 63,000 and is
41. A 763,000 T % U FR AN 5§ joined afterwards by B with ¥ 1,08,000. After
O TYA X 1,08,000 T % B A ST A HHER! how many months did B join if the profits at
T | ﬂﬁﬂﬂ#ﬂﬂﬁmﬂm-mﬂaﬁ.ﬂl the end of the year are divided equally ?
i T 6 AR B 3 W w2 () 5
1) 5 21 6
2 6 (3 3
{i] 3 4 4
@ 4 (5) Mot attempted
(51" I Tl A =
42. In what ratio, rice at ¥ 28.80 per kg and rice
7 28,80 ufy f5. 2@ aﬂltii.ﬂﬂ‘ﬂﬁﬁﬁm- e at T 22,80 per kg be mixed to get a mixture
e T s o fivemd and anfe fraw 1 worth ¥ 25.20 per kg ?
7 25.20 Wit . 9 = ? ()
(1) 3:4 (@) 5:3
(2) 5:3 @ 1:3
ti; é : g (4 2:3
' | 5/  Not attempted
(5) R AL & e e 8
TNAVH/ F4 3 @1l % oo 27 | SPACE FOR ROUGH WORK Page 11
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=l ; y g& a3t sl o 9=n o | 43.  In a school, the ratio of the numb .
g i P ¥ 2 | the number of girlsis 4 : 5, ero”}o-” A 4
ST &1 W 100 BT el TS &t € , hen 1¢ .
4:5 7 ! F frerd P e | leave the school, the ratio beCOmeSﬁ'?Jg,,q-s- a’@’l
WWG:?@W%' 'Ffﬁff I E? many boys are there in the schog|5 oy
(1) 1200 (1) 1200 (1)
00
2) 1000 (2) 10
%3) 1800 (3) 1800 g;
(4) 1500 (4) 1500 )
(5) S Al &1 e (5) Not attempted o)
. = X3 +141 A xH
44, I 14 x 627 + V1089 = x™ + 1 44. If 14 x 627 + V1089 = x° + 141, they, -
AT value of xis : 49. EF,‘{';‘[ﬁ
(1) 25 (1) 25
S @ liﬂ @ 125 :3)
W.«_" @ 5 sqﬁamaﬁ'?f 4 55 ()
L () S 3 o1 S (5) Not attempted (5)
W V .
45. T AT T T 151:‘_":{ gﬁ%mm 45. A man can do a job in 15 days. His fat: -
ﬁﬁiﬁmﬁ{ﬂmﬁ 20 _ takes 20 days and his son finishes i -r5 50 &
For s 25 fo § Q@ A FRA ¥ o e 05 days. How long will they take to comp; 55 @
Fidl Wwﬁaﬁ{ﬂ?ﬂﬁﬁmm?ﬁ? thejobiftheyallworktogether? 22
' 6.4 (1)  approximately 6.4 days a)
(1) . g
(2) 7days 2)
@ 7 (3) less than 6 days (
3
3) 6 f& R (4) exactly 6 days :4;
(4 Refd - (5) Not attempted s
Bl é:" | frey gemail | 46.  The L.C.M. of three different numberi;s istlllil;
46, o faf el @l LCM IQIO 2! gt Which of the following cannot D€ sl 7800
3 4 % 9 gen A @ wensti 1 H.C.F. HCF. ? =
el ? (1) 24 3
(1) 24 (2) 35 &
(1)
S; E152 (4 12 -
ttempte
(5) S 7E A (5) Not attemp e -
; The area of a rectangle is 460 sq.m- L (
47. U 3T I ATFA 460 I AL T ?ﬁ‘q’ T e, | 47. lenegt BT O ‘more than the preadth, ﬂﬂ:euf
ERER! g 3‘ ¥ 15% aAfas %, ar = 4 ¥ 37aa &l which among the following is the bread -
aﬁ—'\‘:"—i‘ FAHE? the rectangle ? '
(1) 34.5HRX (1) 34.5 metres
(2) 20#X (2) 20 metres {4)
(3) 15T (3) 15 metres S
(4) 26HE (4) 26 metres (S)
(5) W TE & =Ed (5) Not attempted _4____? TNAVH/F4
TNAVH/F4 3% el % feTT 2271 / SPACE FOR ROUGH WORK Pag
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‘

as. 3@ 4,0,3,7 3 T AT -1 Fe-9-ag | 48. Eﬁfm %Leatfst 4-§igit :;nd the smallest 4.
: . & s . ‘ rs formed by the g gl
FA-A-BIel GEAT HAM: T (T 3 TH I digit used only once) are ll-gg;;:c'tio’ ? g
. V .
T A R) ¢ \ (1) 7403, 3704 v
(1) ;jgg 2;27 (2)  7430,3047
g: 4370, 4307 (3) 4370,4307
(4) 3740, 3047 (4) 3740, 3047
(5) WG T =Rd (5)  Not attempted
49. ﬁ?maﬁﬂﬁww 2:3:4%) Wﬁiﬂm 49. T}.le .SPEEdS of t.hree cars are in the ratio
' : g 2:3: 4. The ratio between the time taken by
F ¥, T BRI 5N fae T T 3T 31 these cars to cover the same distance is :
(1) 4:3:6 (1) 4:3:6
(2) 6:4:3 2) 6:4:3
(3) 2:.3:_;4 (3) 2:3:4
(4) 4-3-‘ 4 4:3:2
(5) ST & e (5) Not attempted
50. 50 GEmel 1 37 38 B wi‘a.??l mémaﬁ 45T | 50. The average of 50 numbers is 38. If two
55 i g1 faa su ot st st St @ el = numbers 45 and 55 are excluded, then what
22 will be the average of the remaining
numbers ?
(1) 375
i ane (1) 375
A (2) 37.52
@ 37 3) 365
(5) I A e bl
: (5)  Not attempted
51. ¥ 8,000 &t U 10% =it =ehgfg = W 5. 1 o £% 8000 at
: R . In how many years will a sum o ; a
TUHT 9,261 ﬁwﬁ,mmﬂﬁmm 10% per annum compound interest,
T;h?ﬂ §7? compounded semi-annually become ¥ 9,261 ?
1 1
() 27 (1) 23 years
1 1
@ 25 @) 25 years
1 1
3 1= o9 1=
(3) 3 (3) 3 years
1 L] :
@ 13 (4) 17 years
(5) W Tl 1 =ed (5) Not attempted
TNAVH / F4 % &1 o feTw Z2rmei / SPACE FOR ROUGH WORK
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B ame——
op. AT TN AL 4700 7 @i o g | 52.  Harish bought an old Sc
qoHd W ¥ 800 =4 Rl gfg 98 39 ©@ ) ;pent T 800 on its rep;j?tser ’;C;r“’?m
< 5,800 & 3 T TH AH e © : cooter for ¥ 5,800, his gain Perc}:] Selly 5, C}f;
(1) 10% (1) 10% Lis; o
(2) 12% (2 12% (;} i
(
4 (3) )
3) 42% 3 4% (4) :
7 6
- K C ;’E
@ 5% W 5% AR
g (2)
(5) ST A1 <Ted (5) Not attempted 3)
(4)
\ (3)
gz a+b) F10% =(afb]$150%,ﬁ'1a:b%: 53. If 10% of (a+b)=50%of (a—b), thena:p; g Fill iR
(1) 2:3 (1) 2:3 Time '
(1)
2 3:2 (2 3:2 (2)
3 1:2 . 3
[4} s 3) 1:2 G
(4 ' 4 5:2 (5)
, (5) Fe A (5) Not attempted 9. Choos
under]
) ]'_m1
£ s foen 3 A T SR F1t, I g . =
/ 3 S e a-?rB X = A E.q@’ g 54, A solid metallic cylinder of base radius 3¢ {,2]' :
% fisrerh T T TS el and height 5 cm is melted to form cones, & oL S
S 1 A, o SR 5 .o, 1 39 THR of height 1 cm and base radius |mm  let the
aﬁwﬂﬁ e number of such cones is : (1) 7
20 N
(1) 4500 (1) 4500 3) ¢
2) 1350 4 v
) T & 3
(3) 450
(4) 1350 ) 1350 0. Pick ou
an erro
5 STl
;r; N ﬂﬁj‘é} é:;f %n‘a'ﬁ (5) Not attempted ‘Qﬂ’j‘e ore
. &I it 1?0 ﬁiﬁﬂﬁaﬁﬁa A TURA SN | 5. If a sum becomes its double in 10 years, &
e the annual rate of simple interest 18 —
(1) 10% amene
(1) 10%
(2) 20% 5 . )
@ 8% A} 25 )
(4) 5% (3) 8% {(2) (A)
(5) IR 3T @ 5% o N
Na . ——
TNAVH/Fa (5) Not attempted _‘_’_,/yNAVH /Fa
= @14l 3 feTz z2rm= / SPACE FOR ROUGH WORK P’



S58.

59.

60.

Choose the alternative which best expresscs
the given sentence into direct speech.

He told the boy not to sit there.

(1) He said to the boy, “Didn’t sit there.”
(2) He said to the boy, “Don't sit here.”

(3) He said to the boy, “Didn't sit here.”

(4) He said to the boy, “Don't sit there.”

(5) Not attempted

Pick out the correctly spelt word.
(1) tempastuous

(2) tempestus

(3) tampestuous

(4) tempestuous

(5) Not attempted

Fill in the blank with correct form of Verb.

Time and tide for none.
(1) waits

(2) waiting

(3) wait

(4) waited

(5) Not attempted

Choose the correct alternative to improve the
underlined part of the following sentence. If
no improvement is required, your answer is

(2).

You will face many defeats in life but never
let themselves be defeated .

(1)  yourself be defeating
(2) No improvement

(3) themself defeated
(4)  yourself be defeated
(50 Not attempted

Pick out the part of the sentence which ha}s
an error. If there is no error, your answer 1s
(2)-

The property / was divided /

(A) (B)
among the two brothers,
(€)
(1) (©
(2) No error
3) (A
4 (B

(5) Not attempted

- e |

61. Sclect the alternative which

62.

63.

64.

the underlined idiomatic "Xpr?;::-t describeg

You may rush from pillar to sion.
——12Ar to pogt |

stand no chance of ge

without hard work.,

(1)  gotoall post boxe

(2)  go to many office

(3) bevery busy

(4)  rush in all directiong

harassment
(5) Not attempted

. hut you
tting what you want
Sand post offices
S and post letterg

and suffer mych

Pick out the antonym of the underlined word
in the following sentence,

He was afraid of losing the match.

(1) shaken

(2) confident

(3) hesitant

(4) nervous

(5) Not attempted

Find out the synonym of ‘proclaim’,
(1) declare

(2) license

(3) progress

(4) advance

(5) Not attempted

Choose the correct passive voice form of the
following sentence.

He was writing a book.

(1) He has written a book.

(2) A book was being written by him.

(3) A book is written by him.

(4) A book was being written by me.

(5) Not attempted

Rearrange the following parts of a sentence
labelled as PQRS to make a meaningful
sentence.

P - optimism is essential

Q - it is also the

R - foundation of true progress

S - to achievement and

(1) PSQR
(2) RQSP
(3)  QSRP
(4)  PQRS

(5) Not attempted

iTNAVH | F4
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66. ‘¥4’ WoT [ I aren walfus SUgH IS € - 71. ‘s g’ A ¥ fo waifie STER T IR,
(1) &f3 (1) 2T
2 T (2) fama
3) @) Frid
. L(4) W
@ : (5) I A ed
(5) IR < =R . N
72. ﬁqwaﬁﬁ*ﬁm‘%‘mﬁmﬁ@w o
67. ‘ST’ I T WAl TR wHEETs ¥R ¢ ; SR A ge € 2 ) |
(1) (1), o g ST P
2 & 2) ﬁaﬂﬁﬁmﬂm;ﬂ'}:‘éfm'
A (3) 7 H e ST @I g
"k o e
(5) SR & T 6 TR
3. ‘sgEAR FENEEA @A E S T S
68. ‘ffeet:’ T IR FIE : (1) 0 HRE
(1) == (2) et HH B
(2) =& (3)  ATEHTTT R
(3) i (4) T BHRE H
(4) = (5) IR TE & wed
7 3 =ed |
S 74, Frfafaa e fasea § femar-faser &1 9am T
go. ‘fermcra s FerEd W & I am%l e
ifena ste1 1 Wit 39w AT € : (1) T
(1) T+EEd 2) e
(2) we+3hewd (3) R =l
(3) I 4 gw e
(4) I (5) R TR A =R
SR 75. ‘"SR SR SiRTST ST i 1 fag!! | denife #
. - Taifis Sugad 1 ® :
7
%0, ERRE SR (1) T arot o afi @ ofik g &t = 3
(1) 3 (2) Anft =it & S ¥ A@ed fag T @ gl
(2) &= (3)  STUAT STY BT & AR T AT T Ll ¢
@ (4) e o1 1o Safer H T AT, WR T
4) R AT
(5) ST & e (5) ST 3 =
it
INAVH/F4 ¥ Bt % fe1e 221157 / SPACE FOR ROUGH WORK page 1t
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76.

e g T | T e i i e
(1) fEr (1) Bhiwani
2) m (2) Mahendragarh
(3) faa (3) Sirsa
P — (4) Rohtak
. (5) Not attempted
(5) &l < =mey
et e | 77 Wi e s et sl ot
Haryana ?
(1) o (1) Sirsa
() e (2) Bhiwani
(3) HriwE (3)  Sonipat
(4) g (4) Panipat
(5) IR TEl 1 =Ry (5) Not attempted
78. ;a i?;ﬂn q;ﬁf ;:Tm ;Ta e;fg;ﬁ;ﬂggzmg :‘Eg 78. \D;Vhere tzlic%{ RaoDT}:llargI_n, ‘c;llong with R;lo i;g)ral
fepa ? alfs t'ri:;'tLghta:a)gainas{c.l thl:%rii?igiaﬁSTSS; ? )
(1) TR (1)  Jhajjar
(2) Iea= (2) Rohtak
(38) THIER fRer . (3) Nasibpur fort
(4) T (4)  Ambala
(5) IR TE e (5)  Not attempted
79. YA T UF HH |iHT 9 el 9 el srafed ¥ 2 79. '}E‘h_e only surviving steam Loco Shed in India
1S I :
1 S (1) Sonipat
@) m (2) Rewari
@) 9w (3) Panipat
(4)  SFF (4) Ambala
(5) ST & WIEd (5)  Not attempted
TNAVH Fa Tt 1l & fe1U 201 / SPACE FOR ROUGH WORK Page 17
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80. How many Lok Sabha constituencies are tp,

80. Wﬂﬁﬁﬁﬁmgmmm%7
(1) 11 in Haryana ?
(2) 12 (1) 11
@ 9 2) 12
(4) 10 3 9
(5) S T <A =ed 4) 10
(5) Not attempted
. Wﬂmmqwm following statements :
: g1. Consider the followirl :
® <fmon : ;ﬁﬁi f-mﬁ Bl (a) Haryana has never won Ranji Trophy
@éa(b) < ) e gﬂﬁ i (b) Haryana has won Irani T rophy once.
e W'ﬂ‘é‘?%‘/%? Which of the above statement/s is/a
1) (@ 3T (b) & correct ?
2) A (a) IRAH () (1) Both (a) and (D)
(3) - Ha (a) (2)  Neither (a) nor (b)
4) &9 (b) (3) (a)only
<oz & A = (4) (b)only
© (5) Not attempted

Wﬁq@@gﬁmﬂmmﬁﬁ-wmﬁ
82. In terms of population size, Haryana comt

82.

®? at what rank in India ?
) 45 _ (1) 18

@) 19

3) 16 A

@ 17 Pl

5 S | @17

| (5) Not attempted

83. ﬁmﬁf@aﬁ@mmmﬁw%mﬁ
83. Which one of the following is th

fem®?
northernmost distri
o . e}: 13 hdls rict of Haryana ?
urukshetr
(2) )
o (2) Kaithal
‘ ! (3) Yamunanagar
4
(4) TEPedl (4) Panchkula
5 I e
(5 & & (5) Not attempted
—
page

TNAVH / F4 % BT & [eT8 Z2meT / SPACE FOR ROUGH WORK

anned with CamScanne;



g4. frefafEd Fel W famm wifm 84. Consider the following statements .
(a) =T H yfem Y9 w1 o srfum eTm (@) A POIiFf"j Range in I;aryana is headed by
. an officer not below the k
W ﬁ FH T L SR T B T Additional Director General, S
(®) Elﬁ'iﬂ o H T e (b) There are five Poljce Ranges in
“ﬁ?ﬁﬁﬁaﬁ?m/ﬂ U TR /8 ? Haryana.
(1) (a) 3R (b) 2T Which of the above Statement/s is/are
correct ?
2) A/ T
2 (@) IR (o) (1] Both (a) and (b)
) (@) (2)  Neither (a) nor (b)
W S (3) (a) only
(5) ST < =my (4) (b)only
(5)  Not attempted
85. %@Wmﬂwﬂmﬁmﬁwmq&fﬁa%
[ ?
FH S 85. Who is known as the Shakespeare of Haryana
(1) ST and Suryakavi of Haryana ?
(2) IWfEE T (1)  Banshilal
(3) TE aEd | e (2) Ramsingh Nai
(4) dfed o (3) Dada Lakhmi Chand
(5) TRTE A (4) Pt. Mangeram
(5)  Not attempted
86. I HEI <ot AT wREmn w wHeen s 5 S .S |
3 , _ . ata Mansa Devi temple is home to which
i form of contemporary art of Haryana ?
(1) fufa o (1) Bhiti Chitra
(2) @ (2) Dhokra
(3) UEItE= (3)  Pattachitra
(4) Rl Fen (4)  Worli Art
(5) TW T & = (5) Not attempted
. 5 87. Where is the Heritage Transport Museum
87, T wm T forra wftees Hweer e & 2 situated ?
(1) FeE (1)  Kurukshetra
(2) HE (2) Karnal
3) @ (3) Rewari
(5) SR T =R (5) Not attempted
TNAVH / Fa <% w1 & [T Z21e / SPACE FOR ROUGH WORK
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«Deenbandhu Haryarb

. t : 88. I hich year was : !
gs. ercmn ¥ forw o ! <y wfamn am 3e7 A N day Yojana” launched in Haryanay|
TEH TR 2 | (1) 2011-12 |
(1] 2011-12 ) 2019-20 |
(2) 2019-20 (3) 2015-16 5
(3) 2015-16 ) 2017-18 |
(4) 2017-18 5  Not attempted
I N A A8 _
o i T 7l Where in Haryana Geeta Jayantl Mahots,
q 0 r n e
go. ehcmon & wfa ad ‘e S Herwd ' el B9, Whete o ted every year ?
(1) TR (2) Sultanpur
() IR (3) Kurukshetra
W (4) Surajkund
(i) (5) Not attempted
(4) FEPTS
(5) R T & = | 90. Whoamong the following PIEYers fRf‘::‘n:a;z:
o0, efamn 3 FrAfafe fawted 3 ¥ feper 2020 H won Major Dhyan Chan <
) : ? 2020 ?
3¢ AT o e T I S 9 (1) Deepa Malik
(1) o wfers (2) Sushil Kumar
(2) AP (3) Vijender Singh
(3) fooi= fae (4) Vinesh Phogat
Not attempted
(4) fave wAme (5) P
o o bl & ‘Which is the most : opulous city of Haryana’
91. Which P
o1, 2T 3 e ST ol W P €7 (1) Faridabad
(1) HIIER (2) Panchkula
(2) HEPN (3) Rohtak
(3) Tedh (4) Gurugram
@) eI (5) Not attempted
G qﬁ ST 92. Where is Chor Gumbad situated ?
92, T el e €7 (1) Faridabad
(1) HIER (2) Narnaul
(2) A (3) Palwal
(3) UerEd (4)  Gurugram
(4) e (5) Not attempted
6 IR & < 93. How many (approximately) Village Panchay?"
93. eftarn T § forat (TFTH) TH g § 7 does Haryana State have ? ‘
(1) 6000 -6500 (1} 6000 - 6500 |
(2) 6500 ¥ Afyw (2) more than 6500 |
(3) 5000 - 5500 (3) 5000 -5500
(4) 5500 - 6000 (4) 5500-6000
(5) I TE o =ed (5) Not attempted
I
TNAVH/F4 3t el & 1678 22Tt / SPACE FOR ROUGH WORK Page
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94. et - 1 ¥ f3U ¢ wemrafe g g - 0

95.

96.

T
NAVH / Fa

wfmfer foredl & we gafea Fifa )
el -1 et - 11
(a) ISmETS (i) o
(b) eI (i) =R Rl
(c) Tedh (iii) =g
(d) T (iv) T&
e f& T TS i1 ST hed gY W I G :

(1) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(2} (a)-ii), (b)-(v), (c)-(ii), (d)-(i)
(3 (&)-(v), (b)-(ii), (c)-(), (d)-(ii)
(4)  (a)-(iii), (b)-(iv), (c)-(i), (d}-(ii)

(5) S TR <A =R

gftamn & fog e & faoan sia fem g2
(1) 9HIYd

(2) e

(3) FEA

(4) STl

(5) SR <A1 =ed

e T ] 391G (Shgareidt) & o 4 frefafaa

HeHA] T faER FIfe

(a) SR S STCEerd, Teie & Seadid § w7
gl

(b) Zfamon 1 STegEd T % sfeweid 4
R

frefafad & 4 HH-91/8 FoF 9@ §/<?

(1) (@) 3R (b) T

(2) A (a) IRAE (b)

94. Correctly match the Administratiye Divisions

in the List - I with the Districts included in

the List - IL

List-1 List - 11
(a) Faridabad ()  Panipat
(B) Gurugriam (i) Charkhi Dadri
(c) Rohtak (iii) Mahendragarh
(d Karnal (iv) Nuh

Select the correct answer using the code
given below :

(1) {a)-(v), (b)-(iid), (c)-(ii), (d)-(i)
(2)  (a)-(ii), {b)-v), (c)-(id), (d)-(i)
(3)  (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
@) (a)-(), (b)-[v), (c)-(i), (d)-(ii)
(5) Not attempted

95. In which district of Haryana is Tilyar Lake

located ?

(1) Panipat
(2) Rohtak
(3) Kaithal
(4) Ambala

(5) Not attempted

96. Consider the following statements about Gross

State Domestic Product (GSDP) :

(a) GSDP of Haryana is less than that of
Punjab.

() GSDP of Haryana is less than that of
Rajasthan.

Which of the above statement/s is/are
correct ?

(1) Both (a) and (b)
(2)  Neither (a) nor (b)

(3) e (a) (3) (a) only
(4) e (b) (4)  (b)only
(5) SR el I Amed (5) Notattempted

<0 P & foTe 2Tl / SPACE FOR ROUGH WORK
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97. ieTa 1 e, e B F Yl T & w9 A

98.

99.

100.

@nﬁﬂﬁm,m—q—qu

(1) 1965
(2) 1966
(3) 1961
4) 1962
(5) ST <1 wRd
T HH1 Yo, 3Ticel L SR W@ 5 STRTEHT
el fera 82
(1) feEr
2) WIEEg
(3) TP
(4) ed®
(5) SR e &M W
=fTon <1 T velt e ?
(1) R TR
() Termerd d@Fa
(3) v Sehifer
(4)  uAE (I EEfEE)
(5) ST A =D

oot 3 e #1 E FE Ao e § wwe

97.

98.

99.

100.

3

n of Punjab that establish

The reorganisatio
fledged State, took Dlacee-ﬂ
L]

Haryana as a full-

which year ?
(1) 1965
(2) 1966
(3 1961
(4) 1962

{5) Not attempted

he National Academy of Custy,

Where is t :
Indirect Taxes and Narcotics located ?
(1) Hissar

(2) Faridabad

(3) Panchkula

(4) Rohtak

(5) Not attempted

Which is the State Bird ‘of Haryana ?

(1)

Indian Bustard

Himalayan Monal

(2)
(3) Black Francolin
(4)  Great Hornbill

(5) Not attempted

Which scheme launched recently focusses®
crop diversification and water conservationi

TNAVH/F4

Fafersftapor SR ST TRET T S &l & 2
Haryana ?
(1) < afa SEr (1) Jal Shakti Abhiyan
(2) WuH HH A (2) Pradhan Mantri Samman Yojana
3) ufa9g 3rfer W’(’T (3)  Per Drop More Crop
(4) HO a9 fared (4) Mera Pani Meri Virasat
(5) T 1 =TRd (5) Not attempted
-00o0- “e0er
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